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PAN
e ) 11 Wrd | ral| E OIS
26 RHEAB (H/H) 11/20 2/3 O
R FHAREZ (4 8:35 | 10:00 R
. A E Pt Pl
== 7K % (m) 1.8 1.9
gl B M KR #JE B
B P o T i
I " (C) 9.0 5.1
et IS EH_(C) 13.2 10.0
i @, A IRF LK ok £, | IRE IRk 24,
S = WA E | R
5 75 B - (m) 1.2 1.5 1.4
% i BE (cm) |> 100 [> 100 > 100
18 | A= pH 7.7 7.8 7.8
- DO (mg/L) 9.4 11.0 10.2
" BOD (mg/L) 0.6 1.7 1.2
i COD (mg/L) 1.6 2.6 2.1
ERE S SS (mg/L) 1 2 2
wl & E #% (mg/L)|  3.28 3.36 3.32
S B (mg/L)|  0.042 0.033 0.038
HI = i # (mg/L) < 0.01 [< 0.01 < 0.01
7 R I v A (mg/L)|< 0.001 |[< 0.001 < 0.001
el &2 v 7 v (mg/L)]< 0.1 |< 0.1 < 0.1
53 i) (mg/L) < 0.005 |< 0.005 <_0.005
HL A i 7 v A (mg/L) )< 0.02 [< 0.02 < 0.02
H filk F (mg/L) < 0.005 |< 0.005 < 0.005
A 7K R (mg/L) |< 0.0005[< 0.0005 < 0.0005
iS ] (mg/L) < 0.02 |< 0.02 < 0.02
wolw m M 8 (mg/L]< 005 [< 005 < 0.05
I§ WM~ > (mg/L) [<0.02 [< 0.02 < 0.02
v = A (mg/L) [< 0.02 [< 0.02 < 0.02
WAt W A 4~ (mg/L) 1880 2100 1990
z MBAS (mg/L) [<_0.02 |<  0.02 <_0.02
TUoE=TEESE (mg/L) 0.04 0.03 0.04
D faEerEzEFR (mg/L) < 0.01 [< 0.01 < 0.01
LS =E (mg/L) 3.09 3.13 3.11
% m % % (me/L] 0029 | 0.017 0.023
A s B R o asm] 6240 6950 6595
O KB T )=
- 7K i (C) 17.9 10.6
5= = Ak | P KR
. 5 5 B (cm) 65 68 67
c3ps pH 7.4 7.4 7.4
o DO (mg/L) 1.8 9.2 5.5
T | BOD (mg/L) 1.5 2.2 1.9
5 COD (mg/L) 3.0 3.4 3.2
Al SS (mg/L) 2 5 4
=~ & = F# (mg/L) 1.94 1.70 1.82
A 4 B (mg/L)] 0.173 0.112 0.143
WAk W A A4~ (mg/L) 11700 14400 13050
T [7o==7W%=% mg/L| 066 0.34 0.50
o fpgEerEEFR (me/L) 0.01 0.05 0.03
RE Rl E %2 3R (mg/L) 1.07 0.80 0.94
o L B M OBE (mg/D)] 0.117 | 0.039 0.078
E A S8 E o weal 31200 | 37500 34350
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g ) |G FOR | T OIIIES
26 RHEAB (H/H) 11/20 2/3 O
R FHAREZ (4 9:00 | 10:30 R
5 2 S A, T | T
== 7K % (m) 2.4 2.3
BRI KB #JE B
B PN o T i
I " (C) 103 8.1
et IS EH_(C) 12.8 6.5
i @, A [ K i £, | B P £
S = AR | 5
gl W (m) 1.5 1.8 1.7
% i BE (cm) |> 100 [> 100 > 100
18 | A= pH 7.6 7.7 7.7
- DO (mg/L) 6.4 9.1 7.8
BOD (mg/L) - - —
Bt COD (mg/L) 2.3 2.5 2.4
H |5 SS (mg/L) < 1 1 <1
e = #  (mg/L) 2.06 2.58 2.32
S B (mg/L)|  0.161 0.088 0.125
HI 2% 4 (mg/L) . n -
7 F 2 v A (mg/L) - - -
wmle v 7 v (mg/L) — - -
JE &h (mg/L) - — -
H| A fli 7 v & (mg/L) - - -
H filt #% (mg/L) - — —
A 7K $R  (mg/L) — — -
T & (mg/L) - - —
ol B M B (meg/L) - - -
B I amti~y 7> (mg/L) . - -
H v = 2 (mg/L) - - -
WAt W A 4~ (mg/L) 11400 8570 9985
z MBAS (mg/L) - - -
TUoE=TEESE (mg/L) 0.51 0.29 0.40
D etz R (mg/L) 0.05 0.03 0.04
LS =E (mg/L) 1.34 1.88 1.61
% m % % (me/L)] 0.146 | 0.055 0.101
B s B R (o sm] 30100 | 23200 26650
OB ok T )=
- 7K i (C) 18.1 10.5
= = Az PR B
5 5 B (cm) 70 |> 100 85
e[ pH 7.5 7.5 7.5
o DO (mg/L) 1.4 5.0 3.2
I | g BOD (mg/L) - - -
o COD (mg/L) 2.7 2.6 2.7
Al SS (mg/L) 1 3 2
=~ & = F# (mg/L) 1.45 1.63 1.54
A 4 B (mg/L)| 0.209 0.103 0.156
WAk W A A4~ (mg/L) 15900 14500 15200
T [7o==7W%%# mg/L| 0.5 0.40 0.58
o fpgEerEEFR (me/L) 0.03 0.05 0.04
RE Rl E %2 3R (mg/L) 0.47 0.79 0.63
o L B M BE (mg/D)| 0.151 | 0.065 0.108
E A S8 E o aeal 38800 | 37100 37950
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R A B | s

== 7K % (m) 2.8 2.5

B OB oKk OB #JE B

PN o T i

= B (C) 8.9 4.7

7K H o (C) 12.5 6.0

@, A [ K i £, | B P £

5 = WA E | R

75 B - (m) 2.2 2.1 2.2

% i BE (cm) |> 100 [> 100 > 100
pH 7.6 7.5 7.6
DO (mg/L) 6.0 8.7 7.4
BOD (mg/L) - - -
COD (mg/L) 2.1 2.7 2.4
SS (mg/L) 1 2 2

e = # (mg/L) 1.91 1.96 1.94

2 B (mg/L)|  0.171 0.118 0.145

4 i ¢ (mg/L) - - ~

7 F 2 v A (mg/L) - - -

4 v 7 v (mg/L) - - -
b8} (mg/L) - _ -

N 7 v A (mg/L) — —~ _

fit F# (mg/L) - - -

A 7K R (mg/L) - - ~
ki (mg/L) - - -

W fE M # (mg/L) - — -

Vs R~ 7 (mg/L) - - =

v = 2 (mg/L) - - -
WAt W A 4~ (mg/L) 13200 11600 12400
MBAS (mg/L) - -

TUoE=TEESE (mg/L) 0.61 0.37 0.49
etz R (mg/L) 0.05 0.04 0.05
LS =E (mg/L) 1.04 1.26 1.15

B e M B (mg/L) | 0.145 0.075 0.110

B s B R G0 ase] 33700 | 30800 32250

BB oK ®E T)E )=

7K i (C) 17.8 10.7

R X AR | e R

5 5 B (cm) |> 100 [> 100 > 100

H pH 7.6 7.6 7.6
o DO (mg/L) 3.6 6.5 5.1
g BOD (mg/L) - - _

o COD (mg/L) 2.2 2.0 2.1
o SS (mg/L) 2 4 3

=~ & = F# (mg/L) 1.44 1.25 1.35
A 4 B (mg/L)] 0.160 0.093 0.127

WAk W A A4~ (mg/L) 16600 17400 17000

ToE=TEEFE (mg/L) 0.60 0.40 0.50
fpgEerEEFR (me/L) 0.09 0.05 0.07
RE Rl E %2 3R (mg/L) 0.61 0.47 0.54

B B M B (mg/L)| 0.130 0.064 0.097

T &[5 8 F oo 40600 | 42400 41500
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26 RHEAB (H/H) 11/20 2/3 O
A AR (B 5)) 7:30 8:45 5
- R A B | B
== 7K % (m) 5.2 5.1
BRI KB #JE B
] X o & i
I " (C) 8.8 5.1
et IS EH_(C) 15.8 11.8
i @, A K T £, | I K i £
S = e | dmE
5 75 B - (m) 3.3 2.6 3.0
% i BE (cm) |> 100 [> 100 > 100
18 | A= pH 7.7 7.6 7.7
- DO (mg/L) 6.0 7.0 6.5
BOD (mg/L) - - —
Bt COD (mg/L) 1.9 2.2 2.1
H |55 SS (mg/L) 1 4 3
e = #  (mg/L) 1.41 2.14 1.78
S B (mg/L)|  0.160 0.091 0.126
HI 2% 4 (mg/L) . . -
7 F 2 v A (mg/L) - - -
wmle v 7 v (mg/L) — - -
JE &h (mg/L) - — -
H| A fli 7 v & (mg/L) - - -
H filt #% (mg/L) - — —
A 7K R (mg/L) — - -
T & (mg/L) - - —
ol B M B (meg/L) - - -
B I amti~y 7> (mg/L) . - -
H v = 2 (mg/L) - - -
WAt W A 4~ (mg/L) 16200 17800 17000
z MBAS (mg/L) - - -
TUoE=TEESE (mg/L) 0.58 0.38 0.48
D etz R (mg/L) 0.10 0.06 0.08
LS =E (mg/L) 0.63 0.40 0.52
% m % % (me/L)] 0.131 | 0.065 0.098
B s B R o sm] 40100 | 43000 41550
O KB T )=
. 7K i (C) 17.2 12.1
R X AR | e R
5 5 B o(em) |> 100 |> 100 > 100
e[ pH 7.1 7.7 7.7
o DO (mg/L) 2.9 7.1 5.0
I | g BOD (mg/L) - - -
o COD (mg/L) 1.5 1.9 1.7
Al SS (mg/L) 3 4 4
=~ & = F# (mg/L) 1.12 1.22 1.17
A 4 B (mg/L)] 0.144 0.086 0.115
WAk W A A4~ (mg/L) 17300 18100 17700
T [7o==7W%# mg/L| o4l 0.34 0.38
o fpgEerEEFR (me/L) 0.08 0.06 0.07
RE Rl E %2 3R (mg/L) 0.54 0.38 0.46
i LR MR M BE (mg/D)] 0.112 | 0.063 0.088
E A S8 E o weal 42000 | 43400 42700
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ke V5 G HURTS || C S X
26 RHEAB (H/H) 11/20 2/3 O
A AR (B 5)) 7:00 8:00 5
- A E By Bk
== 7K % (m) 4.9 5.0
gl B M KR #JE B
] X o & i
I " (C) 8.7 5.0
et IS i (C) 15.2 12.1
P @, A 5K & [ER)
= = e | dmE
5 75 B - (m) 3.0 1.9 2.5
% i BE (cm) |> 100 [> 100 > 100
175 | pH 7.7 7.8 7.8
. DO (mg/L) 6.7 7.7 7.2
i BOD (mg/L) - - -
BR COD (mg/L) 2.0 1.5 1.8
ERE S SS (mg/L) 1 2 2
wl & E # (mg/L) 1.76 1.37 1.57
S B (mg/L)|  0.195 0.083 0.139
HIM 2 & & me/LD] 001 ] 001 0.01
7 R I v A (mg/L)|< 0.001 |[< 0.001 < 0.001
el &2 v 7 v (mg/L)]< 0.1 |< 0.1 < 0.1
53 i) (mg/L) < 0.005 |< 0.005 <_0.005
HL A i 7 v A (mg/L) )< 0.02 [< 0.02 < 0.02
H filk F (mg/L) < 0.005 |< 0.005 < 0.005
A 7K R (mg/L) |< 0.0005[< 0.0005 < 0.0005
iS ] (mg/L) < 0.02 |< 0.02 < 0.02
wolw m M 8 (mg/L]< 005 [< 005 < 0.05
I§ WM~ Y (mg/L) 0.03 [<  0.02 0.02
7 = A (mg/L) [< 0.02 [< 0.02 < 0.02
WAt W A 4~ (mg/L) 16000 18100 17050
z MBAS (mg/L) |<_ 0.02 0.02 <_0.02
TUoE=TEESE (mg/L) 0.60 0.40 0.50
D etz R (mg/L) 0.13 0.08 0.11
LS =E (mg/L) 0.91 0.41 0.66
' % m % % (me/L)] 0159 | 0.062 0.111
A s 8 OE o wwe] 40700 | 43700 42200
O KB T )=
- 7K i (C) 16.7 11.5
R = PR KR e
5 5 B o(em) |> 100 |> 100 > 100
c3ps pH 7.8 7.8 7.8
o DO (mg/L) 4.8 7.3 6.1
I | g BOD (mg/L) - - -
o COD (mg/L) 1.9 2.2 2.1
Al SS (mg/L) 4 4 4
=~ & = F# (mg/L) 1.25 1.20 1.23
A 4 B (mg/L)] 0.138 0.084 0.111
WAk W A A4~ (mg/L) 17400 18300 17850
T [7o==7W%# mg/L)| 038 0.37 0.38
o fpgEerEEFR (me/L) 0.09 0.07 0.08
RE Rl E %2 3R (mg/L) 0.65 0.43 0.54
o L B M BE (mg/D)] 0.113 | 0.063 0.088
E A S8 E o aweal 42200 | 43700 42950




